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Chapter 28

Consumption and the Aggregate Expenditures Model

Start Up: A Dismal 2008 for Retailers
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28.1 Determining the Level of Consumption
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Figure 28.Trhe Relationship between Consumption and Disposable Personal Income, 196002011

Plots of consumption and disposable personal income over time suggest that consumption increases as dispc
personal income increases.

Source U. S. Department of Commerce, Bureau of Economic Analysis, NIPA Tables 1.1.6 and 2.1 (revised Fe
29, 2012).
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Figure 28.3onsumption and Personal Saving

Personal saving equals disposable personal income minus consumption. The table gives hypothetical values
these variables. The consumption function is plotted in the upper part of the graph. At points along the 45-dec
line, the values on the two axes are equal; we can measure personal saving as the distance between the 45-(
line and consumption. The curve of the saving function is in the lower portion of the graph.
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Figure 28.45hifts in the Consumption Function

An increase in the level of consumption at each level of disposable personal income shifts the consumption fu
upward in Panel (a). Among the events that would shift the curve upward are an increase in real wealth and a
increase in consumer confidence. A reduction in the level of consumption at each level of disposable persona
shifts the curve downward in Panel (b). The events that could shift the curve downward include a reduction in
wealth and a decline in consumer confidence.
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Case in Point: Consumption and the Tax Rebate of 2001
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Figure 28.5Autonomous and Induced Aggregate Expenditures

Autonomous aggregate expenditures do not vary with the level of real GDP; induced aggregate expenditures
Autonomous aggregate expenditures are shown by the horizontal line in Panel (a). Induced aggregate expenc
vary with real GDP, as in Panel (b).
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Figure 28.6Autonomous and Induced Consumption

Consumption has an autonomous component and an induced component. In Panel (a), autonomdgs consumj
equals $300 billion at every level of real GDP. Panel (b) shows induced Gofistahptosumpti@is shown
in Panel (c).
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Figure 28.Plotting the Aggregate Expenditures Curve
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Values for aggregate expenditdEse computed by inserting values for real GEHeusition 28.1Mese are

given in the aggregate expenditures schedule. The point at which the aggregate expenditures curve intersect:
vertical axis is the value of autonomous aggregate expenditures, here $1,400 billion. The slope of this aggreg
expenditures curve is 0.8.

The Slope of the Aggregate Expenditures Curve
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Equilibrium in the Aggregate Expenditures Model
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Figure 28.®etermining Equilibrium in the Aggregate Expenditures Model
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The 45-degree line shows all the points at which aggregate expédjtialesal GDP, as required for
equilibrium. The equilibrium solution occurs whefdtheve crosses the 45-degree line, at a real GDP of $7,000
billion.
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Figure 28.9
Consumption Planned Aggregate Unplanned
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Each level of real GDP will result in a particular amount of aggregate expenditures. If aggregate expenditures
less than the level of real GDP, firms will reduce their output and real GDP will fall. If aggregate expenditures
real GDP, then firms will increase their output and real GDP will rise. If aggregate expenditures equal real GD
firms will leave their output unchanged; we have achieved equilibrium in the aggregate expenditures model. A
equilibrium, there is no unplanned investment. Here, that occurs at a real GDP of $7,000 billion.

Changes in Aggregate Expenditures: The Multiplier
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Figure 28.1@\ Change in Autonomous Aggregate Expenditures Changes Equilibrium Real GDP

$10,000 AF
| | | AE
8,500 : ' : /
= 8,000 - 1 i " AAE = $300 771 |
g
T
o=
gg 6,000 —
=28 AY=$1,500
T o
g o '
o wv)
= | e
u © {
O = 4000 1A
w2 '
()]
o
()]
[@)]
< 2,000
1,700
1,400 /
o
45° =
o
0 $2,000 4,000 6,000 8,000 10,000

Real GDP (billions of dollars) per year

An increase of $300 billion in planned investment raises the aggregate expenditures curve by $300 billion. Th
billion increase in planned investment results in an increase in equilibrium real GDP of $1,500 billion.
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Computation of the Multiplier
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The Marginal Propensity to Consume and the Multiplier

0: 86C 8DBEJI: I=: BJAI>EA>:G ;DG I=>H H>BEA>;>:9 :8DCDBN ;GDB |=: B6G<>C6A
EGDE:CH>IN ID 8DCHJB: 0: @CDL I=6l I=: 6BDJCI 7N L=>8=:FJ>A>7G>JB G:6A " +
L>AA 8=6C<: 6H 6 G:HJAI D; 6 8=6C<: >C 6<<G:<6l: :ME;C9>IJG:H 8DCH>HIH D; ILD
|I=: 8=6C<: >C 6JIDCDBDJH 6<<G:<6l: :ME:C9>1JG:H =i.AC9 |=: >C9J8:9
8=6C<: >C HE:C9>C< .=>H >C9J8:9 8=6C<: :FJ6AH I=: B6G<>C6A EGDE:CH>IN ID
8DCHJB: I>B:H I=: 8=6C<: >C :FJ>A>7G>JB G:6AY:# .=JH

Equation 28.13

<Y ER <A« MPC <Y gr
-J71G68I I=: MPC Y- I:GB ;GDB 7DI= H>9:H D; I=: :FJ61>DC
<YERIMPC <Y ggr m&«
168IDG DJI I=: Y:p I:GB DC I=: Azl
<Yrpr 1MPC <A((

I>C6AAN HDAK: ;DG I=: BJAI»E%GA«?N 9>K>9>C< 7DI= H>9:H D; I=: :FJ6I>DC
67DK: 7N A6C9 7N 9>K>9>C< 7DI= H>9:H MRC X: <:| I=: ;DAADL>C<
Equation 28.14

<Y%g
A 1MPC

0: I=JH 8DBEJI: I=: BJAI>EA>:G 7N 16@>C< B>CJH I=: B6G<>C6A EGDE:CH>IN ID
8DCHJB: [=:C 9>K>9>C< I=: G:HJAI >CID $C DJG :M6BEA: |=: B6G<>C6A EGDE:C
ID8DCHJB: >H I=: BJAI>EA>:G >H 6H L: =6K: 6AG:69N H::C 3BJAI>EA>.G X
MPC X 4 ->C8: 1=: HIB D; I=: B6G<>C6A EGDE:CH>IN ID 8DCHJB:

6C9 I=: B6G<>C6A EGDE:CH>IN ID H6K: >H I=: 9:CDB>C6IDG DC I=: G><=| =6C9 |
FJ61>DC >H :FJ>K6A:CI ID MPS6C9 I=: BJAI>EA>:G 8DJA9 6AHD 7: :MEG:HH:9
6H MPS

.= <<G:<6l: ME:C9>1JG:H (D9:A



=6El:G DCHJBEI>DC 6C9 I=: <<G:<6l: ME:C9>1JG:H (D9:A

Equation 28.15

VMUJIQMIEFS

0: 86C G:6GG6C<: I:GBHPFIGI>DC ___ ID JH: I=: BJAI>EA>:G ID 8DBEJI: I=:
>BE68I D; 6 8=6C<: >C 6JIDCDBDJH 6<<G:<6l: :ME:C9>IJG:H 0: H>BEAN BJAI>EAN

7DI= H>9:H D; I=: :FJ61>DC D716>C I=: ;DAADL>C<

Equation 28.16

A

YFR TIVPC

=: 8=6C<: >C I=: :FJ>A>7G>JB A:K:A D; >C8DB: >C |=: 6<<G:<6l: :ME:C9>1JG:H BD9
G:B:B7:G 1=61 |I=: BD9:A 6HHJB:H 6 8DCHI6CI EG>8: A:K:A :FJ6AH I=: 8=6C<: >C
6JIDCDBDJH 6<<G:<6l: :ME:C9>1JG:H I>B:H I=: BJAI>EA>.G .=JH |=: <G:6l:G I=:
BJAI>EA>:.G I=: <G:61:G L>AA 7: |=: >BE68I DC >C8DB: D; 6 8=6C<: >C 6JIDCDBDJF
6<<G:<6l: :ME:C9>1JG:H

The Aggregate Expenditures Model in a More Realistic Economy

'DJG 8DC8AJH>DCH :B:G<: ;GDB DJG 6EEA>861>DC D; I=: 6<<G:<6l: :ME:C9>1JG:H
ID I=: H>BEA>;>:9 :8DCDBN EG:H:CI:9 HD ;:6G .=:H: 8DC8AJH>DCH 86C 7: 6EEA>:S
BDG: G:6A>HI>8 K>:L D; I=: :8DCDBN

=1 6<<G:<6l: :ME:C9>1JG:H ;JC8I>DC G:A6l:H 6<<G:<6l: :ME:C9>IJG:H II
G:6A "+ .=:>CIl:G8:El D; I=: 6<<G:<6l: :ME:C9>1JG:H 8JGK: H=DLH I=:
A:K:A D; 6JIDCDBDJH 6<<G:<6l: :ME:C9>1JG:H .=: HADE: D; I=:
6<<G:<6l: :ME:C9>1JG:H 8JGK: H=DLH =DL BJ8= >C8G:6H:H >C G:6A " +
>C9J8: 699>I1>DC6A 6<<G:<6l: :ME:C9>1JG:H

FI>A>7G>JB G:6A " + D88JGH L=:G: 6<<G:<6l: :ME:C9>IJG:H :FJ6A G:6
"4

8=6C<: >C 6JIDCDBDJH 6<<G:<6l: :ME:C9>1JG:H 8=6C<:H :FI>A>7G>]
G:6A "+ 7N 6 BJAI>EA: D; I=: 8=6C<: >C 6JIDCDBDJH 6<<G:<6l:
‘ME:C9>1JG:H

=: H>O: D; |=: BJAI>EA>:G 9:E:C9H DC I=: HADE: D; |I=: 6<<G:<6l:
‘ME:C9>1JG:H 8JGK: .=: HI::E:G I=: 6<<G:<6l: :ME:C9>IJG:H 8JGK: |=:
ABG<:G |I=: BJAI>EA>.G I=: ;A6ll:G |=: 6<<G:<6l: :ME:C9>1JG:H 8JGK: I=
HB6AA:G I=: BJAI>EA>.G

.= <<G:<6l: ME:C9>1JG:H (D9:A



=6El:G DCHJBEI>DC 6C9 I=: <<G:<6l: ME:C9>1JG:H (D9:A

.=:H:;DJG ED>CIH HI>AA =DA9 6H L: 699 |=: ILD DI=:G 8DBEDC:CIH D; 6<<G:<6l:
‘ME:C9>1JG:HS<DK:GCB:Cl EJG8=6H:H 6C9 C:I :MEDGIHS6C9 G:8D<C>0: |=6l
<DK:GCB:CI CDI DCAN HE:C9H 7J1 6AHD 8DAA:8IH I6M:H 0: ADD@ ;>GHI 6l I=: :;;:&
699>C< I6M:H ID I=: 6<<G:<6l: :ME:C9>|JG:H BD9:A 6C9 I=:C 6l I=: :;;:8] D; 699>C<
<DK:GCB:Cl EJG8=6H:H 6C9 C:| :MEDGIH

Taxes and the Aggregate Expenditure Function

-JEEDH: I=61 I=: DCAN 9>:;:G:C8: 7:IL::C G:6A" + 6C9 9>HEDH67A: E:GHDC6A >C8L
>H E:GHDCG6A >C8DB: I6M:H "1 JH H:: L=61 =6EE:CH ID I=: HADE: D; |I=: 6<<G:<6l:
:ME:C9>1JG:H ;JC8I>DC

H 7:;DG: L: 6HHJB: I=6l |I=: B6G<>C6A EGDE:CH>IN ID 8DCHJB: >H  7JIL:CDL
699 I=: 6HHJBEI>DC 1=61 >C8DB: I6M:H 16@: W D; G:6A " + .=>H B:6CH I=6I ;DG :K:C
699>I>DC6A D; G:6A"+ 9>HEDH67A: E:GHDC6A >C8DB: G>H:H 7N 6C9 >C1J
8DCHJBEI>DC G>H:H 7N Y $C |=: H>BEA>;>:9 BD9:A >C L=>8=
9>HEDH67A: E:GHDCG6A >C8DB: 6C9 G:6A " + L:G: I=: H6B: 6C 699>I1>DC6A D; G:t
"+ G6>H:9 8DCHJBEI>DC 7N .=: HADE: D; I=: 6<<G:<6l: :ME:C9>1JG:H 8JGK:
L6H |=: B6G<>C6A EGDE:CH>IN ID 8DCHJB: )DL 6H 6 G:HJAI D; I6M:H I=:
6<<G:<6l: :ME:C9>1JG:H 8JGK: L>AA 7: ;A61l:G |=6C |=: DC: H{JG>C

+ADII>C< |=: <<G:<6l: ME:C9>1JG:H JGRCI><JG: 9?JHI>C< ID

FIJ>A>7G>JB :6A" +3$C I=>H :M6BEA: |=: HADE: L>AA 7. 6C 699>I>DC6A D;G:
"+ |L>AA >C8G:6H: BDCHJBEI>DC 7N

*|=:G |I=>C<H I=: H6B: |=: BJAI>EA>.G L>AA 7: HB6AA:G |I=6C >| L6H >C |=: H>BEA>
:8DCDBN >C L=>8= 9>HEDH67A: E:GHDCG6A >C8DB: 6C9 G:6A " + L:G: >9:CI>86A .
L:9<: 7:IL::C 9>HEDHG67A: E:GHDC6A >C8DB: 6C9 G:6A " + 8G:61:9 7N I6M:H B:6CH
I=6I |=: 699>I>DC6A GDJC9H D; HE:C9>C< >C9J8:9 7N 6 8=6C<: >C 6JIDCDBDJH
6<<G:<6l: :ME:C9>1JG:H L>AA 7: HB6AA:G I=6C >; |=:G: L:G: CD I6M:H #:C8: |=:
BJAI>EA>:9 :;;:81 D; 6CN 8=6C<: >C 6JIDCDBDJH 6<<G:<6l: :ME:C9>1JG:H >H HBG6A.

The Addition of Government Purchases and Net Exports

-JEEDH: I=61 <DK:GCB:CIl EJG8=6H:H 6C9 C:| :MEDGIH 6G: 6JIDCDBDJH $; HD I=:
:Cl:G |=: 6<<G:<6l: :ME:C9>1JG:H ;JC8I>DC >C I=: H6B: L6N I=61 >CK:HIB:Cl 9>9
DBEG6G:9 ID I=: H>BEA>;>:9 6<<G:<6l: :ME:C9>IJG:H BD9:A I=: 6<<G:<6l:
:ME:C9>1JG:H 8JGK: H=>;IH JE 7N I=: 6BDJCI D; <DK:GCB:CI EJG8=6H:H 6C9 C:I
:MEDGIE :K:C BDG: G:6A>HI>8 K>:L D; I=: :8DCDBN B><=| 6HHJB: I=61 >BEDGIH 6(
>C9J8:9 H>CS8: 6H 6 SDJCIGNVH G:6A " + G>H:H >| L>AA 7JN BDG: <DD9H 6C9 H:C
HDB: D; L=>8=L>AA 7: >BEDGIH $C |=61 86H: |=: HADE: D; |=: 6<<G:<6l: :ME:C9>1J
8JGK: LDJA9 8=6C<:

.= <<G:<6l: ME:C9>1JG:H (D9:A



=6El:G DCHJBEI>DC 6C9 I=: <<G:<6l: ME:C9>1JG:H (D9:A

1><JG: .= <<G:<6l: ME:C9>1JG:H JC8I>DC DBE6G>HDC D; 6 ->BEA>;>:9
8DCDBN 6C9 6 (DG: ,:6A>HI>8 8DCDBNDLH I=: 9>;;:G:C8: 7:IL::C I=:
6<<G:<6l: :ME:C9>1JG:H BD9:A D; I=: H>BEA>;>:9 :8DCBBMN>:C

1:GB>C>C< FI>A>7G>JB >C I=: <<G:<6l: ME:C9>1JG:H (B<8 6 BDG:
G:6A>HI>8 K>:L D; I=: :8DCDBN +6C:A 6 H=BESU&XK: ;DG 6C :8DCDBN L>|=
DCAN 8DCHJBEI>DC 6C9 >CK:HIB:Cl :ME:C9>1JG:H $C +6B#Z8JGK=>C8AJ9:H
6AA ;DJG 8DBEDC:CIH D; 6<<G:<6l: :ME:C9>1JG:H

Figure 28.1The Aggregate Expenditures Function: Comparison of a Simplified Economy and a More Realis
Economy
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Panel (a) shows an aggregate expenditures curve for a simplified view of the economy; Panel (b) shows an a
expenditures curve for a more realistic modélECheve in Panel (b) has a higher intercept thaEtheve in

Panel (a) because of the additional components of autonomous aggregate expenditures in a more realistic vie
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Figure 28.12 Change in Autonomous Aggregate Expenditures: Comparison of a Simplified Economy and a
More Realistic Economy
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In Panels (a) and (b), equilibrium real GDP is iXitidlhyen autonomous aggregate expenditures rise by the same
amount, Ip. In Panel (a), the upward shift inABeurve leads to a new level of equilibrium real @D of

Panel (b) equilibrium real GDP risés Because equilibrium real GDP rises by more in Panel (a) than in Panel (k
the multiplier in the simplified economy is greater than in the more realistic one.
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28.3 Aggregate Expenditures and Aggregate Demand
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Figure 28.1%rom Aggregate Expenditures to Aggregate Demand
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Because there is a different aggregate expenditures curve for each price level, there is a different equilibrium
GDP for each price level. Panel (a) shows aggregate expenditures curves for three different price levels. Pan
shows that the aggregate demand curve, which shows the quantity of goods and services demanded at each
level, can thus be derived from the aggregate expenditures model. The aggregate expenditures curve for a pr
of 1.0, for example, intersects the 45-degree line in Panel (a) at point B, producing an equilibrium real GDP of
billion. We can thus plot point B on the aggregate demand curve in Panel (b), which shows that at a price lev
1.0, a real GDP of $6,000 billion is demanded.
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Figure 28.14 hanges in Aggregate Demand
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The aggregate expenditures curves for price levels of 1.0 and 1.5 are tHegam@e8481"From Aggregate
Expenditures to Aggregate Demasd$ the aggregate demand curve. Now suppose a $1,000-billion increase in
exports shifts each of the aggregate expenditures cukies yior example, risesAtBp=1 gThe aggregate

demand curve thus shifts to the right by $2,000 billion, the change in aggregate expenditures times the multip
assumed to be 2 in this example.
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